[image: image1.jpg]T {Two vectors are given by
g

T = @omi - Gom)j + (10 mk

and 5= (-10mi + (L0 m)] + @.0mk.

In unit-vector notation, find (2) @ + B, () & — B and (¢) a third
Vector € such that @ — b + € = 0. S





[image: image2.jpg]218,/ The two vectors & and 5 in Fig. 3-29 have equal magnitudes
o7 10.0 m. Find () the x component and (b) the ¥ component of
their vector sum 7, () the mag- 5

nitude of 7. and (d) the angle 7

‘makes with the positive direction
of the xaxis. ssm Mw e

Fig. 3-29 Problem 21.
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[image: image3.jpg]2. What

the sum of the following four vectors in (a) unit-vector

notation. and as (b) & magnitude and (c) an angle? Positive angles
are counterclockwise from the positive direction of the x axis: neg-
aive angles are clockwise.

B 400 m, at +65.0°
D:5.00m, at -235°






[image: image4.jpg]36P. For the following three vectors, what is 3C - (24 x §)?

2008 +3.00] - 4.00k

3000 + 400] + 2008 € = 700 — 8,00}
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[image: image5.jpg]38. Two vectors @ and b have
the components, in meters,
32,a,= 16,6, = 050,h, = 45.

@) Find the angle between the di-

rections of 7 and 5. There are two veciors in the xy plane that are
perpendicular to  and have a magnitude of 5.0 m. One, vector T
has 4 positive x component and the other, vector d, a negative
 component. What are (b) the x component and (<) the y compo-
nent of . and (@) the x component and (¢) the y Gomponent of
vector d7
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